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1 The exact value of cos™! (-1) + cos -1 M=

2
-T1/2
3m
-11/6

2 The exact value of cos-1 (0) is

tan<sup>-1</sup> 3/5
cot<sup>-1</sup> 13/12
Sec<sup>-1</sup> 13/12
sin<sup>-1</sup> 5/13

3 Cos™112/13 =
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X

Cos X

x=1/x
cos<sup>-2</sup> x

4 cos™1(cos x) =

Cos X

5 Cos-1(x)= ’t‘a n1()

Sec-1 (1/x)
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tan-1 x
m-cos-1 x

6 Cos-1 (-x) =
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COS X
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1/x
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7 lfrr<x<21r, then cos-1 (cos x)=
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8 If cos (2 sin-1 x) = 1/9 , then what is the value of
x?
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9 Cos (cos4T/3)=

70<sup>o</sup>
50<sup>o</sup>
90<sup>o</sup>
60<sup>o</sup>
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10 The exact degree value of the function sin-1( -
\3/2) is
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1" What is the value of cos (cos-1 2) ?
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12 The value of cos(cos-1 1/2) is

3
4
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13 What is the value of cos-1(1/2)?

. tan<sup>-1</sup> x
Cosec<sup> -1</sup> x
Cosec x

. cosec<sup>-1</sup>(1/x)

14 sin! x=

x
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15 Sin-1(-x)= JA
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sin -1(sin2m/3) =

sn (2sin-10.8)

Sin -1 x=

sin (sin"1(1/2))=

The principal value of sin"1[-V(v3) /2] is

The value of sin-1 24/25 is equal to

The value of sin"! 5/13 is equal to

The Principal value of sin-1 (-1/1/2)

In the interval 0< x < 11, the sine is

x = sin! 3, then the value of sin xis

The domain of the function y = sin x, is

The principal value of sin™! (-1/2)

The principal value of sin-1V(3/2) is

Secx =

Sin"1(-x)=
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. sin(11/2-x)
. Sin-1 (11/2-x)

. /2 + cos-1x

0
2

oo

51/3
-2m/3
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. csc-1 25/24
. sec-124/25
. 2 tan-14/5

Cos 5/13

cos<sup>-1</sup>5/12
2 cos<sup>-1 </sup>4/5
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. Not a function
. Not defined
. Infinity
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mE<x$T
-2 S X< 21T
-1<x<1

3
4
/6

. -11/3

2m/3
2

. cosec<sup>-1</sup>1/x
. Cos<sup>-1</sup>(-x)

. Tan<sup>-1</sup>x
. Cos<sup>-1</sup>1/x

. Cot<sup>-1</sup>X
. None of these



